.

BB |

T SFiE T i

L so2S
L~147m2\ 7. 7 82
A= 2204 .
AP 26 219170 o
7 =3.2304 A ., — 5) i
77:32\}04 l‘ . r- ., 70‘\5_,97 .Q £ (/3.399 r:
b =4408 53705 § R g
O =854S5T2° R ‘t, 3
QR ~
RS Y
Q' o~
0 s %\“‘%‘ . f1:828~43 \‘ Qx\
9 )'Z828T45 . .\\o.: oot | o
W 2553742 O\ 3
AR, 28 #7E 2 ‘
281,848 7 : 3

e 2

JE828~47
” 328__4‘5

777864

L 05350803 ¢

T

A X it

A g=2753
AP=2377
m=30607

7 =20900

b =3656

& =88~/7~59"

A A

a=r%3 22385 : © Ag=2044
A$=7683 "G pe=2703
m=32870 - .27 A L =2-7722
7 =19504 . n <2772z
6 =4as? /\ —_— =4 456
& =70623-37" .

6 =79%32~38°




